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00 mfile

1. 000 od: design.m

% HeODOOOODO

clear

format short e

w=logspace(-2,6,100) ;

A Uoooooggg

gplant A0 oooooooon
SHeo O OOON

disp(’Hoo Controller Design with hinfsys’)

K=[];
controller; A o0o0oooooooog
disp(’Hit any key to plot Bode diagram of Hoo controller’)
pause
if isempty(K)==
break;
end;

Alooooooood
contplot; A 0ooooouooog
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disp(’Hit any key to start the simulation’)
pause

Aoooooon

simu Aooooooooood
disp(’Hit any key to end the program’)

pause

close all

clc

2. 0000000: gplant.m

A ooooognd

Psys=nd2sys([1],[1 0 0],3.87e7);
Wisys=nd2sys([1 125.7],[1 1le-4],5e-1);
W2numl=[1 le+4 5.7e+7];

W2dencof=1;

W2denl1=[1 1.2e+4 4.04e+8];
W2sys1=nd2sys(W2numl,W2denl) ;
W2sys=mmult (W2sysl,W2sys1,23.9);
W3sys=0.1;

W4sys=nd2sys([10 10*0.5%5e4],[1 10%5e4]);
A dooooognd

(76)



Pfr=frsp(Psys,w);

Wifr=frsp(Wisys,w) ;

W2fr=frsp(W2sys,w) ;

W3fr=frsp(W3sys,w) ;

Wafr=frsp(Wisys,w) ;

figure(1);

vplot (’liv,1m’ ,Wifr ,W2fr ,W3fr,Wafr);
title(’Weighting Functions’)

xlabel (’Frequency [rad/s]’)

ylabel(’Gain’)

grid;

A ooooooogn

systemnames=’Psys Wlsys W2sys W3sys W4sys’;
inputvar=’[wl; w2; ul]’;

outputvar=’[Wisys; W2sys; W4sys; w2+Psys]’;
input_to_W3sys=’[wl]’;

input_to_Psys=’ [u+W3sys]’;
input_to_Wlsys=’[Psys+w2] ’;
input_to_W2sys=’[Psys]’;
input_to_W4sys=’[u] ’;
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sysoutname=’Gpsys’;
cleanupsysic=’yes’;
sysic;
. Hoo U000 0O 0O 0O controller.m
J/method=="hinfsyn’
glow=0;ghigh=10;tol=1e-2; %y UL O UOOOOOONO
Jotdbooboobood
while isempty(K)==1 & ghigh<le6;
[K,CL,gopt]l=hinfsyn(Gpsys,1,1,glow,ghigh,tol);
if isempty(K)==1 & ghigh<le6;
ghigh=ghigh=*10; hghigh 1 100000
tol=ghigh*le-3;
end
clear CL ghigh glow tol
end;

. Hee DO OOOOOOO O contplot.m

Kfr=frsp(K,w) ;
figure(2); RUOb0doddoouon
subplot(2,1,1)
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vplot(’liv,1m’ ,Kfr);

title(’Bode plot of Controller’)
xlabel (’Frequency [rad/s]’)
ylabel(’Gain’)

grid;

subplot(2,1,2)
vplot(’liv,p’,Kfr);

xlabel (’Frequency [rad/s]’)
ylabel (’Phase(degrees)’)

grid;

. UO00000000 closedlp.m

systemnames=’Psys K’;
inputvar=’[w; r]’;
outputvar=’ [Psys+r; K]’;
input_to_Psys=’ [K+w]’;
input_to_K=’[Psys+r]’;
sysoutname=’Clsys’;
cleanupsysic=’yes’;
sysic;
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6. JUOUOUUOUon: simum

YHeo OOOOUOOOODOOOOOOO
closedlp;
[da,db,dc,dd]=unpck(sel(Clsys,1,1));
[ua,ub,uc,ud]=unpck(sel(Clsys,2,1));
AR EEERE

t=[0:0.0001:0.1];
[y,x,t]=step(da,db,dc,dd,1,t);
[u,x,t]=step(ua,ub,uc,ud,1,t);
figure(3)

subplot(2,1,1)

plot(t,y)

axis([0 0.1 0 16])

xlabel (’Time[s]’)

ylabel (’Amplitude’)

title(’Step disturbance response’)
grid on;

AN EEERE

subplot(2,1,2)

plot(t,u)
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axis([0 0.01 -1.7 01)
xlabel(’Time[s]’)
ylabel(PulV]’)
title(’Input’)

grid on
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Jodoooodd w000 mfile

1. 0000000 : musyn.m

/A VRERERERERE

clear

format short e
DK_DEF_NAME=’dk_defin’;
w=logspace(-2,6,100);

Ly Oooooooood
plant_new4d

fop U0

dkit

K=k_dk2suffix;
controllerplot;
hUOooooogno

L OUOOoooooooooon
K=k_dklsuffix;

simu2_1

L UOoooooooooooo
K=k_dk2suffix;
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simu2_2

cp 00 datdodgoogg:

dk_defin.m

NOMINAL_DK=Gpsys; Oooooooood
NMEAS_DK=1; Ly Uuoogod
NCONT_DK=1; L Uoogod
BLK_DK=[1 2;1 0]; hpopUodododddgnd
OMEGA_DK=logspace(2,6,50); % 0OOOOOOO
DISCRETE_DK=0; L Uoogod

% AUTOINFO_DK (OO O0ODO)

Ly UUouooooooooogno

Ly Uoouooooogod

y Uooooooooouoboooogoon
AUTOINFO_DK=[1 2 1 3*ones(1,size(BLK_DK,1))];
NAME_DK = ’suffix’; Sy O0oogoooooon
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